

Thermodynamic Properties of A.nilotica var. nilotica and A.seyal var. seyal Gums Solutions

Omer.A.Alobied¹, Mohammed.EL.Osman²

¹Assistance Professor, Department of Chemistry, Faculty of Education, University of Al-Butana P.O Box 200 Rufaa, Sudan ²Professor, Department of Chemistry, Faculty of Science, Sudan University of Science and Technology, P.O Box 407 Khartoum, Sudan Omeralobied 1982@gmail.com

Abstract— The thermodynamic properties of A.nilotica gum, A. seyal gum solutions were measured and calculated. The partial specific volume of gum, partial specific volume of the solvent (water) and the volume fractions were measured and calculated. Thermodynamic studies involved the estimation the partial specific volume of gum, partial specific volume of the solvent (water) and solute (gum) and the volume fraction of water (φ_1) and that of gums (φ_2) in gums solutions of different concentrations. For composite samples of A.nilotica var. nilotica and A.seyal var. seyal average were found to be 0.999 cm³g⁻¹ and 0.618 cm³g⁻¹, 0.998 cm³g⁻¹ and 0.643 cm³g⁻¹ respectively. The results show that the sequences of the specific volumes of the gums under studies are in the order of decreasing molecular weight of these gums. Second virial coefficient (A_2) average for composite samples of A.nilotica var.nilotica var.nilotica var.seyal was found to be 2.09×10^{-3} . The results explained that water is good solvent for the tow types of gums. Chemical potential range have been calculated from osmotic measurement for different concentrations and was found to be -1.997×10^{-3} to -8.790×10^{-3} joule g⁻¹ on average for composite samples of A.nilotica. For composite samples of A.seyal var.seyal the average it was found to be -1.576×10^{-4} to -4.1382×10^{-4} joule g⁻¹. The results show that the change in chemical potential of water in A.seyal var.seyal gum solution. Free energy of mixing range of composite samples of A.nilotica var. nilotica average was found to be (-1.2768×10^{-3}) . For composite samples of A.seyal var.seyal average was found to be (-1.2768×10^{-3}) to $-3.1773 \times 10^{-3})$. For composite samples of A.seyal var.seyal average in the results for the tow type in the change in chemical potential of water in A.nilotica var. nilotica gum solution. Free energy of mixing range of composite samples of A.nilotica var. nilotica average is for composite samples of A.s

Keywords— Gum ; Acacia nilotica; Acacia seyal; Thermodynamic properties.

I. INTRODUCTION

1.1 Gum

Acacia gums can be defined as the dry exudates obtained from the stems and branches of botanically aspecific species of a subgenous from family leguminosae [1].

Crud gum arabic, (has different uses) is a complex copolymer of polysaccharide with high molecular mass and complex structure [2-5]. It is a branched molecule [6] with protein content of about 2.0–2.5%. Gum is present in a mixed calcium, magnesium and potassium salts of polysaccharidic acid [7,8]. It is composed of six carbohydrate moieties: galactopyranose, arabinopyranose, arabinofuranose, ramnopyranose, glucuropyranosyluronic acid and 4-o-methylglucuropyronosyl uronic acid [9-12].

According to Bentham's taxonomic classification of the Acacia genus, A. seyal var.seyal belongs to series 4 (Gummiferae) and A.senegal var.senegal to series 5 (Vulgares) [13] subsequently modified somewhat by Vassal [14]: Series 4 Gummiferae Benth.= Subgen. Acacia Vas. also called 'Acacia seyal complex which comprises: - A.abyssinica subsp. calophylla, A. nilotica (syn. A. adansonii and A. arabica), A. drepanolobium, A. farnesiana, A. gerrardii, A. giraffae, A. hebeclada, A. karroo, A. kirkii, A. leucophloea, A. nebrownii, A. nubica, A. reficiens, A. rigidula, A. seyal, A. sieberana (var. villosa, var. woodii), A. seyal (var. fistula, var. seyal), A. tortilis (subsp. heteracantha).

Series 5 Vulgares Benth. = Subgen. Aculeiferum Vas. Also called 'Acacia senegal complex that contains:- A. berlandieri, A. polyacantha subsp. campylacantha, A. catechu, A. erubescens, A. fleckii, A. goetzii subsp. goetzii, A. laeta, A. mellifera, subsp detinens, A. senegal, A. Sundra Acacia nilotica var.nilotica produces a gum which is, highly, soluble in water. However, very few analytical data about the relevant structural features of the polysaccharide from A.nilotica var.nilotica gum have been reported [15-19].

The chemical constituent, the molecular structure and the molecular weight affect the behavior of molecules in solutions. Gum arabic finds a wide application in food and beverages as a natural emulsifier particularly for citrus water and low viscosity [20- 22]. In food industry, gum arabic is primarily used in confectionery, bakery, dairy, beverage, microencapsulating agent and to a lesser extent in textiles, ceramics, lithography, cosmetics and pharmaceutical industry[23].

1.2 Thermodynamics study

To understand the behavior of gum molecule in solutions it is necessary to measure and calculate some thermodynamic parameters and functions. Thermodynamics has an immense predictive power and the thermodynamic laws can be used to predict the direction in which a process would proceed. Thermodynamic parameters and functions include the partial specific volume, the volume fraction, the osmotic pressure, the chemical potential of solute and solvent, the second virial coefficient, and the free energy of mixing.

One of the most function characteristics in the behavior of each component in a solution is the chemical potential of the component. It is equal the change in internal energy of a solution in addition to an infinitely small number of moles of ith component, referred to that amount of substance at



constant volume, entropy, and quantity of each of the other components. Moreover, the chemical potential could be calculated from the partial specific volume and osmotic pressure [24,25 and 26].

Osmosis is the phenomenon of penetration of a solvent into a solution through a semi permeable membrane. The tendency of solvent molecules to pass spontaneously into a solution, is due to the inequality of chemical potential of pure solvent and solution estimated quantitatively by osmotic pressure, which has the dimension of pressure (atm, Nm⁻²). The osmotic pressure, the density of solvent and the density of solid gum measurements lead to calculate the second virial coefficients (A₂).The free energy of mixing (ΔG^m) could be calculated from the chemical potential and the weight fractions of solute and solvent, its value is an indication of the interacting of the solute with solvent[25].

The aim of this work is to investigate the thermodynamic properties of *A. nilotica* and *A. seyal* gum solutions and to determine some important thermodynamic parameters and functions. This includes the partial specific volume, the volume fraction, the osmotic pressure, the chemical potential of solute and solvent, the second virial coefficient and the free energy of mixing. The other aim is to compare and contrast the thermodynamic properties of *A. nilotica and, A. seyal* gum solutions.

II. EXPERIMENTAL

2.1 Materials

Tow samples of each type of *Acacia* gum (*A.nilotica and A. seyal*) were collected, and one sample of each type had been made by coning and quartering [27]. The gum samples used in this study were cleaned by hand to ensure they were relatively free from sand, dust and bark impurities. Then were grounded using pestle and mortar, backed in labeled self sealing polyethylene bags.

2.2 Thermodynamic measurements and calculations

The thermodynamic of polymer solutions can be applicable to gum solutions since gum molecules are classified as biopolymer molecules, the gum arabic solutions were characterized by different thermodynamic parameters.

2.2.1 Partial specific volume of solvent

The tangent method was used [24] by dissolving a constant weight of gum sample in different weights of water. The densities of solutions were determined by a pyknometer at 294K, and then the total volumes of the solutions were calculated. The volumes of solutions were plotted against weight of solutions. The partial specific volume of water is equal to the $\partial V / \partial g$ which can be calculated from graph [24, 25].

2.2.2 Partial specific volume of the gum

Tangent method was used in which different weights of gum were dissolved in a constant weight of water. The densities of solutions were determined by a pyknometer at 294K and then the total volumes of the solutions were calculated. A graph of the volume of solutions versus the weights of gum was plotted. The partial specific volume of gum sample is equal to the $\partial V / \partial g$ which can be calculated from the graph [24].

2.2.4 Osmotic pressure of gum solutions

Osmotic pressures of gum solutions were measured using osmomatR050 colloidal osmometer at 294K by preparing different concentrations of gum solutions.

III. RESULTS AND DISCUSSION

The partial specific volume of the solvent and solute were calculated by using the tangent method [24]. From the slopes values (Fig. 1-4), the partial specific volumes of solvent (water) and solute (gum) were obtained. The partial specific volume of water and A.nilotica gum for a A.nilotica gum solutions were obtained from the slopes value (Fig.1 and 2), which were found to be 0.999 cm³ g⁻¹ and 0.618 cm³ g respectively. For A.seyal gum solutions the partial specific volume of water and A.seyal gum (Fig. 3 and 4) were found to be 0.998 cm³ g⁻¹ and 0.643 cm³ g⁻¹ respectively. The results show that the sequences of the partial specific volume of the gums under studies are in the order of decreasing molecular weight of these gums i.e. A.nilotica and A. seyal. The partial specific volume of A.nilotica is very close to that of the A. seyal, although there is noticeably difference between their molecular masses; This, may be, due to the compactness of A.seyal molecules which is greater than the A.nilotica molecules. The results of the partial specific volume of gums also show that A.nilotica molecule expands in water more than A. seval molecule.

The volume fractions of water (φ_1) and that of gums (φ_2) in gums solutions of different concentrations (Table 1) were calculated using equations (1) and (2) [22]. The results show that *A.seyal* has the larger volume fraction followed by *A.nilotica*. The sequences of the volumes fraction were related to the sequences of the weight average molecular weight and the partial specific volumes of the exudates samples of the gums.

$$\mathbf{v}_1 = \mathbf{V}_1 / \mathbf{V}_1 \mathbf{V}_2 \tag{1}$$

 $\varphi_2 = \mathbf{V}_2 / \mathbf{V}_1 \mathbf{V}_2 \tag{2}$

Where:

V $_1$ = partial specific volume of the solvent (water)

V $_2$ = partial specific volume of the solute (gum)

Table 2-3 shows the osmotic pressures of different concentrations of *A.nilotica* and *A.seyal*. The results obtained show that at the same concentration of *A.seyal* has high value of osmotic pressure than the *A.nilotica*. This mean that they interact with water more than *A.nilotica* and this was due to the structural variations. According to equation (3) [24], it was possible to determine the change in chemical potential of water as a solvent in different gums solutions (Table 2- 3). The results show that the change in chemical potential of water in A.seyal var.seyal gum solution was greater than the change in chemical potential of water in chemical potential of water in A.nilotica var.nilotica gum solution, and the results also show that A.seyal var.seyal values are closed to values of A.nilotica var.nilotica.













Fig (3): Partial Specific Volume of water (Comps. Sample) Acacia Seyal



Fig (4): Partial Specific Volume of Gum Acacia Seyal in Acacia Seyal solution

Table (1): Partial specific volume of water (V_1), of gum (V_2), volume fraction of water (φ_1), of gum (φ_2) and second virial coefficient (A_2) for composite samples of *A* milotica var nilotica and *A* seval var seval gums aqueous solution

of A. nuotica var.nuotica and A.seyal var.seyal gums aqueous solution								
Gum sample	V1(cm3 g-1)	V2 (cm3 g-1)	φ1	φ2	A2	Mn		
A.nilotica	0.999	0.618	0.6178	0.3823	0.97×10-3	1.89×10^{5}		
A.seyal	0.998	0.643	0.6081	0.3918	2.09×10-3	1.67×10^{5}		





Table (2) Chemical potential $\Delta \mu_1$ and weight fractions of water in *Acacia nilotica var. nilotica* gum solutions (Composite sample)

Conc.gcm ⁻³	V ₁ cm ³ g ⁻¹	$\pi_{\rm mmHg}$	Δ μ 1mmHg cm ³ g ⁻¹	$\Delta \boldsymbol{\mu}_{1}$ erg g ⁻¹	ω	W ₂	$\omega_{1/}\omega_{2}$
0.07	0.999	1.5	-1.4985	-1997.95005	0.93	0.07	13.2857
0.08	0.999	2.1	-2.0979	-2797.13007	0.92	0.08	11.50
0.09	0.999	2.9	-2.8971	-3982.7004	0.91	0.09	10.1111
0.1	0.999	3.7	-3.6963	-4928.2767	0.90	0.1	9
0.11	0.999	4.8	-4.7952	-6393.4401	0.89	0.11	8.0909
0.12	0.999	6.6	-6.5943	-8790.9802	0.88	0.12	7.3333

* Where ω_1 and ω_2 weight fractions of water and gum





Fig (8) segment A to correct the chemical potential of Acacia nilotica var. nilotica ($\Delta \mu_2$)



Table (3) Chemical potential	μ_1 and weight fractions of water in Acacia	seyal var. seyal gum solutions

		-	•	•	•	-	
Conc.gcm ⁻³	V ₁ cm ³ g ⁻¹	<i>π</i> mmHg	$\Delta \mu_{1}$ mmHgcm ³ g ⁻¹	$\Delta \mu_{1} erg g^{-1}$	ω	ω2	$\omega_{1}\omega_{2}$
0.07	0.998	8.7	-8.6826	-11576.511	0.93	0.07	13.2857
0.08	0.998	11.1	-11.0778	-14770.031	0.92	0.08	11.50
0.09	0.998	14.8	-14.7704	-19693.374	0.91	0.09	10.1111
0.1	0.998	20.1	-20.0598	-26745.731	0.90	0.1	9
0.11	0.998	26.1	-26.0478	-34729.532	0.89	0.11	8.0909
0.12	0.998	31.1	-31.037	-41382.699	0.88	0.12	7.3333

* Where ω_1 and ω_2 weight fractions of water gum



Figure (9) variation of $\omega_{1/}\omega_2$ with the chemical potential of water



Figure (10) Segment A to correct the chemical potential of Acacia seyal var. seyal ($\Delta \mu_2$)

$\Delta \mu_{1}$ erg ⁻¹	ω	$\Delta \boldsymbol{\mu}_{1\times} \boldsymbol{\omega}_{1}$	$\Delta \mu_2 \text{erg g}^{-1}$	ω ₂	$\Delta \mu_{2\times} \omega_2$	$\Delta \boldsymbol{G}^{\mathrm{m}} = \Delta \boldsymbol{\mu}_{1} \times \boldsymbol{\omega}_{1} + \Delta \boldsymbol{\mu}_{2} \times \boldsymbol{\omega}_{2}$
-1997.95005	0.93	-1858.093547	-155864.97	0.07	-10910.5479	-12768.64145
-2797.13007	0.92	-2573.359664	-160664.85	0.08	-12853.188	-15426.54766
-3982.7004	0.91	-3624.257364	-167464.68	0.09	-15071.8212	-18696.07856
-4928.2767	0.90	-4435.44903	-175797.81	0.1	-17579.781	-22015.23003
-6393.4401	0.89	-5690.161689	-193064.04	0.11	-21237.0444	-26927.20609
-8790.9802	0.88	-7736.062579	-200313.87	0.12	-24037.6644	-31773.72698

Table (4) Calculating	the Free energy	of mixing of	f Acacia nilotica	<i>var.nilotica</i> gum

Tab	ole (5) Calculating the	e Free energy	of mix	ing of Aca	cıa seyal var	r.seyal g	gum solutions	\$
	A	A			A			

$\Delta \mu_{1}$ erg g ⁻¹	ω	$\Delta \boldsymbol{\mu}_{1\times} \boldsymbol{\omega}_{1}$	$\Delta \mu_2 \text{erg g}^{-1}$	ω2	$\Delta \mu_{2\times} \omega_2$	$\Delta G^{\mathrm{m}} = \Delta \mu_1 \times \omega_1 + \Delta \mu_2 \times \omega_2$
-11576.511	0.93	-10766.15523	-126943.26	0.07	-8886.0282	-19625.18343
-14770.031	0.92	-13588.42852	-134943.26	0.08	-10795.4608	-24383.88932
-19693.374	0.91	-17920.97034	-140343.13	0.09	-12630.8817	-30551.85204
-26745.371	0.90	-24071.1579	-150842.55	0.1	-15084.255	-39155.4129
-34729.532	0.89	-30909.28348	-163742.55	0.11	-18011.6805	-48920.96398
-41382.699	0.88	-36416.77512	-172742.32	0.12	-20729.0784	-57145.58352

(3)

 $\mu_1 - \mu_1^{0} = \Delta \mu_1 = -V_1 \Pi$ Where: $\Delta \mu_1$ change in chemical potential of water V_1 partial specific volume of water Π osmotic pressure of the solution

The second virial coefficient (A₂) was obtained from the slope of the graph by plotting $(\Pi /c)^{1/2}$ versus concentration (c) equation (4) [24,28,29] of different A. gum samples (Fig.7-



9).The second virial coefficients were found to be 0.97×10^{-3} , 2.09×10^{-3} for the *A.nilotica* and *A. seyal* respectively (Table 1). The results explained that water is good solvent for the tow types of gums (A₂ > 0), also the result indicate that *A. nilotica* gum has closer and higher values of second virial coefficient than *A. seyal*, indicating that was interacting with water more than the *A. seyal* gum.

 $(\Pi/c)^{1/2} = (RT/Mn)^{1/2} + (RT/Mn)^{1/2} A_2Mn/2 c$ (4) Where:

R is the gas constant

T is the temperature in Kelvin

The number average molecular weights (Mn) of *A.nilotica* and *A.seyal* were calculated from the intercept of graphs of Fig. 5 and 6 using equation (4), they were found to be 1.89×10^5 and 1.67×10^5 respectively. osmotic pressure methods improve the accuracy of all results obtained in this study by the osmotic pressure technique.

The changes in chemical potential of the three gum samples were calculated by plotting weight fractions of water divided by weight fractions of gum (ω_1/ω_2) versus the change in chemical potential of water ($\Delta\mu_1$) (Fig.7 and 9). The areas under the curve, bound by ordinates corresponding to $\Delta\mu_2/$ which was less than the true areas values were obtained by $\Delta\mu_2$ (true change chemical potential of gum), to correct these

areas [24], a graph of $\Delta \mu_2$ / versus weight fraction of water (ω_1) was plotted to obtain segment A from the intercepts of (Fig. 8 and 10) and then to obtain the true values of gums ($\Delta \mu_2$) by using equation (5). (Table 2 and 3) shows that the change in chemical potential of *A.nilotica* and *A.seyal*, the results show that *A.seyal* gum has great changes in chemical potential. This means it interacts with water more than *A.nilotica* which interacts with water more than *A. seyal*. $\Delta \mu_2 = \Delta \mu_2 / + A$ (5)

The change in free energy of the mixing of the three gum samples were calculated by using equation (6) [24]. The obtained results were reported in (Table 4 and 5). The results show that *A.seyal* has closed values, those were higher than the values obtained for *A.nilotica* values. This means that *A.seyal* interacts with water more strongly than *A.nilotica*. $\Delta G^{m} = \omega_{1} \Delta \mu_{1} + \omega_{2} \Delta \mu_{2}$ (6)

The tow *Acacia* gums samples under studies have large values of osmotic pressure, great changes in chemical potential and free energy of mixing of the entire system and positive values of second virtial coefficient. This indicates that water is a good solvent for the tow types of A. gums samples. The order of the interaction with water is greater in *A.seyal*, then in *A.nilotica*.

IV. CONCLUSION AND RECOMMENDATION

Comparative studies were carried out to measure and calculate the thermodynamic properties such as the partial specific volume, the volume fraction, the osmotic pressure, the chemical potential, the second virial coefficient, the free energy of mixing of the tow gum solutions. The results show that water is a good solvent for the tow types of gums although *A.seyal* interacts with water more strongly than *A.nil*otica. Thermodynamically, it was found that water has good affinity for the tow types of gum samples. The results

also show that *A.nilotica* molecules are compact compared with *A. seyal*, and *A. seyal* molecule expands in water more than *A.nilotica* molecule. Blending studies of those gum solutions depending on the thermodynamic properties.

The two gums under studies have large values of osmotic pressure, great changes in chemical potential and free energy of mixing of the entire system and positive values of second virial coefficient this indicates that water is a good solvent for both types of gums. The order of the interaction of gum with water is that *A.seyal var.seyal* > *A.nilotica var.nilotica*.

Different thermodynamic parameters have been calculated were used to compare and contrast the two types of gums A.nilotica var.nilotica and A.seyal var.seyal which fall within the range of the gummeferae species.

REFERENCES

- [1] JECFA. FAO. Rome.(1998). Food Nutrition paper No.52, Add 6.
- [2] Connolly, S., Fenyo, J., C. and Vandevelde, M.C., J. Food Hydro Colloids, 1,477 – 480, (1987)
- [3] Connolly, S., Fenyo, J., C. and Vandevelde, M. C., Carbohydrate polymers, 8, 23 – 32, (1988)
- [4] Taha K., Elmahi R. H., Hassan E. A., Ahmed S. E. and Shyoub M. H., Analytical Study On Three Types of Gum From Sudan, Journal of Forest Products & Industries, 1, 1, 11-16, (2012)
- [5] Christian S., Denis R., Paul R., Christophe S. and Jakques L., Structure and Rheological Properties of Acacia dispersions. Food Hydrocolloids, 16,257-267, (2002).
- [6] Snowden, M. J., Phillips, G.O., and Williams, P. A., Food Hydrocolloids, 1, 4, 291 – 300, (1987).
- [7] Standford, P. A. and Baird, J., in Aspinall, G.O. (ed), "The poly saccharides, Academic Press, 2, (1983).
- [8] Omar B. Ibrahim, Mohamed E. Osman, Elfatih A. Hassan, Characterization and simple fractionation of Acacia Senegal. Journal of ChemicaActa, 2 11-17, (201
- [9] Sharma, S. C., GUM and Hydrocolloids in Oil Water Emulsions. Food Technology. 35, 1, 59 – 67, (1981)
- [10] Glickman, M., Gelling hydrocolloids in product application in polysaccharides in Food, CRS, Press, Inc. Florida, (1979)
- [11] Aspinal, G. O., Hirst, E. L. and Matheson, N.K., J. Chem. Soc.pt. 1, 989, (1956)
- [12] Ekhadem, E. and Megadad, M.M., J.Chem.Soc.pt. 3,3953, (1956)
- [13] Bentham, G.(1875). Trans.Linn. Soc.London, 30, 355-668.
- [14] Ross, J. H., (1979). A. conspectus of the African Acacia in memoirs of the botanical survey of South Africa D. J. B. Killicked., Republic of South Africa, 1-151.
- [15] Anderson, D. M. W. and McDougall, F.J.,(1987). Food additives and contaminates,4. 247-255.
- [16] Karamalla, K. A., Gum and Stabilisers for Food Industry, 10, 37 52, (2000)
- [17] Al-Assaf, S., Philips, G.and Williams, P. Food hydrocolloids, (2005). 19, 647-660.
- [18] Abdelrahman, M. A., Ph. D. thesis, Department of Chemistry, Sudan University of Science and Technology, Khartoum, Sudan, August (2008).
- [19] Satti, A. A., Ph. D. thesis, Department of Chemistry, Sudan University of Science and Technology, Khartoum, Sudan, (2012).
- [20] Egadu, Simon P, Mucunguzi, Patrick, Obua and Joseph, Supplement 1.March, African Journal of Ecology, 45, 5, 17 – 21, (2007)
- [21] Alistair M. Stephen, Glyn O. Phillips and Peter A. Williams, Food Polysaccharides and Their Applications. CRC Press, Taylor & Francis group. (2006)
- [22] Osman, M. E., Williams, P. A., Menzies, A. R. and Phillips, G. O., J. Agric. Food Chem. 41, 71-77, (1993)
- [23] Mariana A. M., María L. B., Lorena V.and Claudio D. B., Gum Arabic: More Than an Edible Emulsifier, Products and Applications of Biopolymers, Edited by Dr. Johan Verbeek, Publisher In Tech. ISBN 978-953-51-0226-7, (2012).
- [24] Tager, A. A., Physical chemistry of polymers, Second edition., Mir Publishers, Moscow (1978).



- [25] S. F. Sun., Physical Chemistry of Macromolecules: Basic Principles and Issues, Johnwiley& sons, Ink Hoboken, New Jersey, USA. (2004)
- [26] Robert A. O. and Pamela A. A., Polymer-Solvent Interaction Parameter χ 1. Physical properties of Polymer Handbook, edited by J. E. Mark, AIP Press. New York (1996).
- [27] Bassett, J., Denney R. C., Jeffery G. H., and Mendham J., Vogel s , Textbook of Quantitative Inorganic Analysis, Fourth edition, , Longman Group UK Ltd. (1978)
- [28] Gnanou, Y. F. M., Organic and Physical Chemistry of Polymer, John Wiley & Son. (2008)
- [29] Flory, P.J., Principles of Polymer Chemistry, First published Cornell University Press. (1953)